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1) done ~cn+8=14 1) .1.G-4=2 7) .2.E - 5 = 20 1) .1.K+3=11 7) ..2...R+5-25
8) 4 8 3 12

2) done .1.G=6 .2.E = 25 .1.K=8 2-R = 20
48 + 8 = 14 4 8 3 12

Feel free to use 8 .1 . .1G=2. . .1. §. . .§.E = 25 ..§. ~·.1K=§.·~ 1£. 2-R = 20 ~.1£
canceling to simplify 6 +8 = 14 1 4 1 1 5 8 1 5 1 3 1 1 5 12 1 5

your work.
14= 14 G = 24 =24 E = 200 = 40 K = 24 = 24 R = 240 = 48

1 5 1 5

3) .2.. .1A = ~ . .2. 9) ~·.£z=1£·~ 2) .1.(24)-4 =2 8) .2.(40) - 5 = 20 2) 3e14) +3= 11 8) 2-( 48)+5 =25
1 5 1 1 2 3 1 2 4

8 12 1

A=.1.§.=15 Z = 36 = 18 ~e14)-4=2 ~(410)-5=20 24 + 3 = 11 240 +5 = 25
1 2 3 12

24 _ 4= 2
200 _ 5 = 20 8+3=11 20 +5 = 25

1 (15)= 3 10) ~cn= 12
4

8 11= 11 25 = 25
4) 6 -4 =2

25 - 5 =20
5 .2.·.1G = §. . .§. ~·.£M=1Q·~
3= 3 36 = 12 2=2 9) .1 ..1 J = 1. ..1 3)

1 5 1 1
9)

2 3 1 2
3 1 4 1 1

G = 40 = 40 M = 30 = 15

1Y-4=2
12 = 12 3) .2.. .1.D= 40 . .§. J= 1§. =28 1 2

5) 4 5 1 4 1
7 i(410) = 8 10) £(1§.)-10
1Y=6

D = 200 =50 10) 1 (28) = 7
4)

11) £C-2=2 4
31-

7 4
5 7=7 40 =8 ~O= 10

I ..1y=.2..1 £C=4 ~(510)=40
5

1 7 1 1 5 4)
11) ~F+9=14 8=8 10 = 10

y= 42 = 42 .2.. .£C =.1. . .2.
200 = 40 ~L+3=181 2 5 1 2 .2.F = 5 5) 11) ~S+6=14

5 5
C = 20 = 10

9
40 = 40 ~ ..§.F=.§..~ ~L= 15 '£S=8

1(42) -4 =2
2

6) 5 9 1 5
5 9

7 ...1..H- 4= 0 .2..~ L = .1.§...2. ~·.£S = §..~
6-4=2

~(1n-2=2

5)
10 F = 45 = 9 3 5 1 3 2 9 1 2

12) 5
2=2 ...1..H= 4 L = 75 = 25 S = 72 = 36

20 -2 =2
10 12) ~(~)+9=14

3 2

~B+8=14
5 1Q·...1..H=.1·1Q

6) ~ (25) + 3 = 18 12) ~(36)+6=147)
8 4-2 =2 1 10 1 1 45 +9 = 14 5

~B=6 2=2 H = 40 = 40 9 ~e15)+3 = 18 ~(316) +6 = 14
(J)

8
1 5 +9 = 14 0

14= 14
c

§.. ~B = 2..'§' 75 + 3 = 18 72 +6 = 14 -
6) ...1..(40)- 4 = 0 o·

3 8 1 3 5 9 :J

B = 48 = 16
10 15+3=18

(J)

4-4=0
8 +6 = 14 J\.)

3 14= 14 00
0=0 »

I

J\.)
ex>
0



8
2B 3

1T+4=8 5) 2i (142) = ~ ,~ =
1) 1u +2 = 3 7) :!§. x 1. x _1 = 2-

5 6 2'M 4 ~5 40

1T=4 1u = 1 8) ~ x:§. x ~ = £
5 616 = 616 sq ft

6

§.,1.T=.1,.§. 1 ' , 2.,1.u=l,2.
3~ ~ 5. 3

1 5 1 1 1 6 1 1 9) 1+£=1x1=JL=~

T = 20 = 20 6) 2 22 '1'42 88 U=2.=6
6 3 6 2 12 4

1
l' Y "1"= -1 = 88 ft. 1 10) 24 + .1.§.= 24 + 18 :0

1 ~ ~ 3 3
7 7 1

7) ~x'3x11=11
24 =.1 = 11.

1(20) +4 =8 2) 1(6) + 2 = 3
18 3 3

5 X a. ~2 2
6 11) 32 oz. = 32 oz.

t(21O)+4=8 8) K x'3x~ = '1 =2 ~(~)+2=3 12) 14,000 Ibs > 8,000 Ibs.

20 +4= 8 1+1.=1xg,=.2.=6
1+2 = 3 13) 120 in. < 125 in.

5 9)
1 2 1 1 1 3=3 14) 4+5+6=15

4+4=8 15+3=5
4

8=8 10) 11+]1 = ~ x '29 = 1. = 4 15) 6+7+9+10=32
5 20 ~ 1 §.,£p=g, . .§.3)

2 5 1 2
32+4 = 8

1N-6 =21
11) 21 ft. < 36 ft. P=.1Q=5 16) 4 + 7 + 10 = 21

4 12) 10 pts. < 11 pts,
2 21 +3 = 7

1N= 27 17) 41.+41 = 8g, = 9
4 13) 5 qts. > 4 qts. 2 2 2

.1.~N = 27.1. 4) ~(t)=2 61.+61 = 12£
3 4 1 3 14) 2+7+9=1? 333

N = 108 18+3=6 .1Q = 2 12~+9=21~ in.
3 5

N = 36 15) 5+5+9+13=32 2=2 3

32+4=8 18) ~ x ill= 57 =
2 'Sl 2

1 (36) - 6 = 21
16) 2 + 5 + 8 + 9 = 24 252

28t sq. in.
4 24+4=6· 5) 22 (422)= 22 .~ =

~(316 )-6 = 21

7 ~ 1
17) 77 + 80 + 95 + 100 = 352 5544 ' 19) 2x2x2x2x2x2

352+ 4= 83
-1- = 5,544 sq. In.

20) 16
108 _ 6 = 21

(J)

4 18) 70
0

27 - 6 = 21
6 c

~ x~ x ~ =264in.
-- 6) o·

21= 21
:::J
(J)

I\.)
(X)

0
I

I\.)
(X)
m



28F 29A 29C

1) ..1..V-3,:12 7) Rx.::fLx~=l 1) done
16 1 ~~ 2 1) 1 2 20

2) 1 5 50 5"= 10 = .2 = 100 = .20
..1..V=15 2'K) ~ 2'6 8 2"= 10 = .5 = 100 ,: .50
16 8) -x-x-=-
1.§. . ..1..V ,: 1.§. . 1.§.

'3~ ~ 11 11
3) 4 8 80

1 +-1 = 1.xlQ. = lQ. = 5 5" = 10 = .8 = 100 = .80 2) 3 6 60
3 16 1 3 9) 5" = 10 = .6 = 100 = .60

V = 240 ,:80
2 10 2 1 2 4) done

3 10) 37 +.1! = 37 x t23=
~ = 100 = 100O/C8 12 28 41 5) 3) 1 25
5 100 ° "4 = 100 = .25

2) ..1..(80)-3=12 ill = 129
6) done16 82 82

..1..(80)_3=12 11) 256 oz. > 1 oz. 7) 1 50 4) ~ = 100 = 10001<
16 1 "2 = 100 = .50 = 50% 5 100 °
240 -3 = 12

12) 2,640 ft. = 2,640 ft.

16 13) 9 in. < 10 in. .f. = 40 = 4001<15-3=12 14) 4 + 8 + 10 + 14 = 36
5)

5 100 °
12 = 12 3674 = 9

3) 50 +4= 19 15) 6 + 7 + 9 + 14 = 36 6) ~ = 1~~ = .75 = 75%
50 = 15

3674 = 9

16) 6 + 6 + 12 = 24 29B
1.50 = 1.§..1 2473 = 8 1) done 7) i= 1~~ = .50 = 50%5 1 5
0=1.§.=3 1 1 2 117) 2-+1-=3-=3- 2) 3 75

5 4 4 4 2 "4 = 100 = .75

4) 5(3) + 4 = 19
31.+11.=4£'=5 2 4 402 2 2 3) 5"= 10 = .4 = 100 =.40

15+4=19 5 +3 = ~ = 1% mi.
~ = 60 = 6001<4)

19 = 19 18) .1x.1x.1= 64 =21Q. cu. in.
5 100 °

3 3 3 27 27 5) 4 80 8001<
5) 2i (22) = 2i .4 = 19) 30:2,~,§,6, 10,lQ,30

5"= 100 = °

88 =12.1. sq. in. 45:~,§,9,1.2,45 6) 1 = 25 = 25 = 25%
7 7 GCF= 15

4 100 .

20) 15 7) ~ = 75 = 75 = 75%
6) 2 22 2 4 100 . (J)

1"."7.1"= 0

88 = 12.1. in.
c-o·7 7 :::J
(J)

I\Jco
11
I

I\J<.0
0


